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I. Exprimer en fonction de In2, In3, In5

1°.In12=2In2+1n3
3°.In96 =5In2+1n3
5°. In24 =3In2+1n3

2°. In18 =1In2+2In3
4°. In15=1n3+1Inb
6°. In120=3In2+1n3+1nbd

12
8°. 1n—8 =7In2—-5In3

7°.1n432 =4In2+ 3In3
n n24+3in 543

192
°.In— =4In2 — 21
9 n108 n n3
In(2 —v3)+m2++v3)=0

Inv125 = ;lnf)

10°.
11°.

I1. Simplifier

1°. In(e?) = 2

3°. In(1/e) = -1

5°. In(1/ve) = —1/2

70 p2+Ind _ 4.2 g0, 3z _ 3

9°. In(1/e®) = —x 10°. InVe® = z/2
5a

oe _ 3z o 17

13°. (6—21‘)4 _ e—8m

2°. In(y/e) = 1/2
4°. 21n(e®) = 6
6°. In(e?) +In(1/e?) = —2

—4z

14°. 6358653; _ 68:8

ITI. Résoudre
1°. In(34+2) =In3+Inx

S ={3/2}

2°. In(3z) =3lnz

S={v3}

3°. Inz + In(z — 2) = In(z + 10)
S ={5}

4°. Inb5 —Inx=Inx —1In2

S = {V10}

5°. In(2z) + In(8z) = 4
S={e’/4}

6°. (Inx)>+4lnz+3=0
S={1/e;1/e%}

7°. In(z+2) =In(5 —x)

S=1{3/2}

8°. In(1 — %) = In(1 — 2)

S = {0}

9°. In(z +3) =0

S={2}

10°. In(2x — 1) = In(4 — z)
S=1{5/3}

11°. In(—222 + 52 + 3) = In(4a? — 1)
S ={4/3}

12°. (z = 1) In(z —2) =0

S ={1;3}

13°. In(2z —5) =In3 —Inx

S={3}

14°. In(z 4 3) + In(z + 2) = In(z + 11)

S={1}
15°. Inx + In(z + 1) = In(z — 1)

S=10
16°. In(x — 4) + In(2z) = In4
S={2+6}

17°. In(z — 1) + In(z + 1) = In(z + 5)
S = {3}
18°. In(22* — 52 + 1) = (In 16) /2

S={3-1/2}

19°. Inz +In(x — 1) = 2In(z — 2)
S=10

20°. Iny/z = In(2z + 1)

S=10

21°. Inv2z — 3+ Invz = In(6 — z)
S={3}

22°. 2(Inxz)® 4+ 7(Inz)? + 2Inz -3 =0

S ={1/2;ve;1/e}

23°. In(2x + 3) + In(2? + 22 4 2) = In(8z + 9)
S={-1;,-3;1/2}

24°. 8(Inz)® — 9(Inz)> + Inz =0 S = {1;¢; e/}

IV. Résoudre
10- 321‘ — 23:8
S = {0}
20, 3% 713;“ +2=0
n
S =1{0; —
{ 71n3}
3°.10% — 103 —2=0
In2

5= {31n10}
4°.3°%2 4 9771 = 1458
S = {4}
5°. In(In(e®) + e ™*) =1 —Inzx
S={+ve—-1}
60 { 3z +2y =23
| nz—Iny=1In7
S=A{(71)}
e { 108 om0 =3
In(xy) =7/2

S={(Vee), (e, Ve)}

1 1
go.d ity =l
Inz+lny=3



